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BSOSt 150000 % PROPOSED RAMP TOE55N o o
5 L © W‘Z P : CURVE RAMPP-4
o PROP. CURVE TOES5SN-1 PROP. CURVE 7OESSN-2 | PROP. CURVE TOESSN-3 | PROP. CURVE 7OE55N-4 . =t .
8 "’/ ! PI STA. = 55+46.88 PI STA. = T1+23.23 PI STA. = B6+06.22 PL STA. = 92+44.00 o o CURVE 7OESSN-4
& ,pc Sta 58+31.29 N = 14,042,573.79 N = 14,041,267.74 N = 14,042,264.57 N = 14,042,777.30
! E = 2,454,885.22 E = 2,455,770.30 E = 2,457,396.23 £ = 2,457,794,46
h A = 10° 06’ 07" RT) A= 87° 23 147 LD A= 20° 410 077 LD A= 5° 26 527 (LT)
D = 1° 56" 04" D = 5° 12" 317 D = 1° 54" 35" D = 2° 40" 03"
[ } R = 2,962.00" R = 1,100,00" R = 3,000.00" R = 2,148.00
T = 26180 T = 1,050.95° T = 547.50° T = 102,19
! L = 522.24° L = LBT7.71 L = 1,083.08 L = 204.23°
wl E = 1155 E = 421,34’ E = 49.55 E = 2.43
Sk e = N/A e = N/A e = N/A e = N/A
S \ T.R. = N/A T.R. = N/A TR = N/A T.R. = N/A
el S.E. RUN = N/A S.E. RUN = N/A S.E. RUN = N/A S.E. RUN = N/A
I J P.C. STA = 52+85.08 P.C. STA = 60+72.28 P.C. STA = 80+58.72 P.C. STA = 91+41.80
o : N = 14,042,761.40 N = 14,042,137.73 N = 14,041,978.40 N = 14,042,697.16
s ol E = 2,454,702.61 E = 2,455,180,73 £ = 2,456,929.47 E = 2,457,731.82
"’, TFL P.T. STA = 58+07,32 P.T. STA = 77+49.99 P.T. STA = 91+41.80 P.T. STA = 93+46,03
@ N = 14,042,357.07 N = 14,041,817,04 N = 14,042,697.16 N = 14,042,864.23
o ltn £ = 2,455,032.08 E = 2,456,666.27 E = 2,457,731.82 E = 2,457,849.15
0
E =z PROPOSED RAMP TOEG4E PROPOSED RAMP P
- PROP. CURVE TOEG4E-1 PROP. CURVE TOEG4E-2 | PROP. CURVE 7QEG4E-3 | PROP. CURVE RAMPP-1 PROP. CURVE RAMPP-2 PROP. CURVE RAMPP-3 PROP, CURVE RAMPP-4
i PI STA, = 49+22.39 PI STA., = 58+60.45 Pl STA. = 69+25,22 PI STA. = 18+60.32 Pl STA. = 23+33.57 Pl STA. = 29+84.93 Pl STA, = 35+16.42
POT Sta 7e+13.oal;- N = 14,042,542.02 N = 14,041,725.36 N = 14,041,146.08 N = 14,041,645.93 N = 14,041,934.72 N = 14,042,320.24 N = 14,042,745.29
I E = 2,454,899.40 £ = 2,455,368.80 E = 2,456,276.43 E = 2,456,452.23 E = 2,456,923.27 E = 2,457,448.62 £ = 2,457,776,85
A = 14° 200 137 (RT) A= 27° 33 467 (LT A = 12° 027 09 (R A = 93° 33 51 RT) A= 4° 45 377 (LT) A = 16° 03 07" (LD A= 6° OF 47 (LT
2 D = 1° 56° 04" D = 4° 32" 50" D = 6° 43’ 15" D = 35° 48" 36" D = 1° 02 307 D = 1° 54 35" D = 2° 38 48"
H R = 2,962.00' R = 1,260.00" R = 840.00 R = 160.00’ R = 5,500.00" R = 3,000.00' R = 2,164.81"
T = 372.53 T = 309.05 T = 88.55 T = 170.28 T = 228.62 T = 423.01 T = 114,02
L = 74117 L = 606.14' L = 176.46° L = 261.28° L = 456,97 L = 840.48" L = 227.82
L E = 23.33 E = 37.35 £ = 4,65 E = 73.65 E = 475 E = 29.68 £ = 3.00
! e = N/A e = N/A e = N/A e = N/A 6 = N/A e = N/A e = N/A
T.R, = N/A T.R. = N/A T.R. = N/A T.R. = N/A TR. = N/A TR, = N/A TR. = N/A
S.E. RUN = N/A S.E. RUN = N/A S.E. RUN = N/A S.E. RUN = N/A S.E. RUN = N/A S.E. RUN = N/A S.E. RUN = N/A
i P.C. STA = 45+49.86 P.C. STA = 5545140 P.C. STA = 68+36.66 P.C. STA = 16+90.04 P.C. STA = 21+04.96 P.C. STA = 25+61.92 P.C. STA = 34+02.41
N = 14,042,808.97 N = 14,041,993.31 N = 14,041,193.73 N = 14,041,506.58 N = 14,041,815,23 N = 14,042,069.97 N = 14,042,655.04
[ E = 2,454,639.56 £ = 2,455,214.79 E = 2,456,201.78 E = 2,456,550.08 E = 2,456,728.37 £ = 2,457,107.59 € = 2,457,707.17
| P.T. STA = 52+91.03 P.T. STA = 61+57.54 P.T. STA = 70+13.12 P.T. STA = 19451.32 P.T. STA = 25+61,92 | P.T, STA = 34+02.41 P.T. STA = 36+30.23
N = 14,042,219.04 N = 14,041,559.09 N = 14,041,083.92 N = 14,041,734.93 N = 14,042,069.97 1N = 14,042,655.04 N = 14,042,842.35
M‘ML E = 2,455,085.04 E = 2,455,629.32 £ = 2,456,339.50 E = 2,456,597.39 E = 2,457,107.59 i E = 2,457,707.17 E = 2,457.836.68
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